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[V,D] = eig(X)
produces a diagonal matrix D of eigenvalues and a full matrix V whose columns are
the corresponding eigenvectors so that X*V = V*D.

[V,D] = eig(A,B)

produces a diagonal matrix D of generalized eigenvalues and a full matrix V whose
columns are thecorresponding eigenvectors so that A*V = B*V*D.
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>> M=[1 0;0 4];

>> M 1099 6lb)|o)g 9 ﬁ.bUio Ao J:> LS‘)'.’ MATLAB )|}.§| ,0)3 )" oolioiw! *¢

>> k=[12 -2; -2 12]
k =

12 -2
-2 12

>> [V,Dl=eig (k,M)

VvV =
-0.1091 -0,9940
-0.4970 050546
D=
2.8902 0
0 12.1098
>> sqgrt (D)
ans =

1.7001 0
0 3.4799
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roots(C)

computes the roots of the polynomial whose coefficients are the elements of the vector
C. If C has N+1 components, the polynomialiis C(1)*X~AN + ... + C(N)*X + C(N+1).

0*-6m*+8=0

> C=[1 0 -6 O0€¥W
>> roots (C)

ans =

-2.0000
-1.4142
2.0000
1.4142
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0,(t) = Cypcos(wit — 1) — Crcos(wat - ?2)
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m;; # 0, [ — Dynamic Coupling

c;j %0, (% — Damping Coupling (or Velocity Damping)

ki; # 0, [ ) = Static Coupling
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